03089_A MAEIXFHNYUERE , HERBEHLBENYREE

7= miiEA

M
WEIAIE
BYERMAEENSXAE S TN,

TEHEMAE
RETNEAKRZREIE :
IBUERMAAETNS 1.4305,

BIREHREM BN EREKIEF,
JeRBHERBEYRE,

g -

Wit :

BYER Ba&1k.
REMEEL K LITENZRE.,

THEWEN | BYUE 2,
WAL, KITEMTE,

BR:
FEADEHEEBENERTNE D EERD,
BEE SR TR R E,
TJEBRRZATUSISIEMNENE R,

D2
L
| swi '
; |
W o S S A
- ' !
-~ 2 ! |
| ' |
wv
D
T T
D1
03089-11051 A M Kb 5 M10x1 25| 50,5 |17 7 15| 5 13 1,3 8-12
03089-12061 A M AL B 6 M12x1,5 25 | 555 |20 8 |17| 6 14 1,8 4-12
03089-13081 A M ATE{LALIB 8 M16x1,5 33 76 26 10(23| 8 19 2,3 10-20
03089-14101 A W ZE{LALE | 10 M20x1,5 33 82 28 12|25 10 22 2,8 3-23
03089-111051 A e RELAE 5 M10x1 25| 50,5 (17 7 |15 5 13 1,3 8-12
03089-112061 A | TEW | KRELLE 6 M12x1,5 25| 555 |20 8 |17 | 6 14 1,8 4-12
03089-113081 A TN KELALE 8 M16x1,5 33 76 26 10|23 | 8 19 2,3 10-20
03089-114101 A THW | KELLE | 10 M20x1,5 33 82 28 12]125| 10 22 2,8 3-23

© norelem www.norelem.com




03089_A MERFHEMPERE , T ERNBELLFNHREE

© norelem www.norelem.com



